

715-672-5266 Fax 715-672-5267 MP3412 WD 535

Dil	П	٦		
OH	ш	- 1	ı	

Heit Realty **PO BOX 178** Durand, WI 54736

Invoice

Number: 2489

Date:

May 09, 2002

Ship To:

672-4224

Susan Yerigan's

Upgrade's To Pressure System

W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
1 1/2 HP Webtrol Pump W/Control Box	1.00	800.00			800.00
250 Well-X-Trol Pressure Tank	1.00	340.00			340.00
	302.00	0.95			286.9
10-3 Pump Cable	294.00				443.9
1" Galv. Drop Pipe Iowa Hydrant	1.00				87.0
		90			



WE ACCEPT MASTERCARD & VISA

Sub-Total \$1,957.84

State Tax 5.00% on 0.00

0.00 0.00

County Tax 0.50% on 0.00

Total \$1,957.84

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70

State of Wisconsin Department of Natural Resources

Form 3300-5W Rev. 11-96

All abandonment work shall be performed in accordance with the provisions of Chapters NR 811, NR 812 or NR 141, Wis. Adm. Code, whichever is applicable. Also, see instructions on back.

	(2) FACILITY NAME	
(1) GENERAL INFORMATION	Original Well Owner (If Known)	
Well/Drillhole/Borehole Location County Pepin	Unknown	1
	Present Well Owner	10 to
16. [1] 사람들은 사람들은 사람들은 사람들은 사람들은 사람들은 사람들은 사람들은	[
NW 1/4 of NE 1/4 of Sec. 05; T. 25 N; R. 14 X W	Susan Yerigan	
(If applicable)	Street or Route	
Grid Number	W8998 Weber RD	11175
Grid Location	City, State, Zip Code	
ond Docation ft. N. S.,ft. E. W	Arkansaw, WI 54721	11.31
Civil Town Name	Facility Well No. and/or Name (If Applicable) WI Unique We	II No.
Waterville		
State of the state	Reason For Abandonment	the state of
Street Address of Well		
W8998 Weber RD	Drilled New Well Date of Abandonment	
City, Village	[17] [2] A	
Waterville	5-6-02	
WELL/DRILLHOLE/BOREHOLE INFORMATION	100 D N W C 10 2001	
(3) Original Well/Drillhole/Borehole Construction Completed On	(4) Depth to Water (Feet) 280 Ver No Not Arr	olicable
(Date) Unknown	Pump & Piping Removed? Yes No Not App	
mentals substituted Williams and for them in break sign such	Liner(s) Removed? Yes No Not App	
Monitoring Well Construction Report Available?	Screen Removed? Yes No Not App	plicable
Water Well Yes No	Casing Left in Place? Yes No	
·	If No, Explain	State .
사용하다 	the second second and the second	obt.
Borehole	Was Casing Cut Off Below Surface? Yes No	1000
British Carlot Comment of the Commen	Did Sealing Material Rise to Surface? Yes No	
Construction Type:	Did Material Settle After 24 Hours? Yes No	
Differ (Sandpoint)		na La
Other (Specify)	If Yes, Was Hole Retopped? Yes No	1
the body made about at the concentration of the latest con-	(5) Required Method of Placing Sealing Material	
Formation Type:	Conductor Pipe-Gravity Conductor Pipe-Pumped	
Unconsolidated Formation Bedrock	Dump Bailer Other (Explain)	L.
Total Well Depth (ft.) 289 Casing Diameter (in.) 5"	(6) Sealing Materials For monitoring wells at	nd
	Neat Cement Grout monitoring well boreho	
(From groundsurface) Casing Depth (ft.) Unknown	요 이 지어 있는데요 (2014년 1일 1일 2일 일반대통령 경기의 기업	oles only
	Sand-Cement (Concrete) Grout	
Lower Drillhole Diameter (in.) 5"	Concrete Bentonite Pellets	
he proposed ad object, service and object to a colored by	Clay-Sand Slurry Granular Bentonite	
Was Well Annular Space Grouted? Yes No W Unknown		Grout
If Yes, To What Depth? Feet	Bentonite Chips Bentonite Chips	
A CONTRACT CONTRACT CASE OF THE PARTY OF THE	much and silter same observation has a hadron with make a largery	will ill
(7)	From (Ft.) To (Ft.) Sacks Sealant (Circle Mix Rai	tio
Material Used To Fill Well/Drillhole	From (Ft.) To (Ft.) Sacks Sealant (Clicle or Mud We	The state of the s
		- Igill
2 Chinged Bentonite	Surface 289	W. F.
? Chipped Bentonite	289 104	
reach a they have an angle we are private as to visc alignment of	melhis men arthus at the design and the arthur but at a war of	
contract produced a conditioned alignetics. And are discounted that are the effective and the		
The state of the second of the	the state of the s	46120
	to the state of th	1
(0) C		
(8) Comments:		FF 383
(9) Name of Person or Firm Doing Sealing Work	(10) FOR DNR OR COUNTY USE ONLY	
Pelke Plumbing Heating & Well Drilling INC	Date Received/Inspected Region/County	
Signature of Person Doing Work Date Signed		
Signature of Person Doing Work Date Signed 5-6-02	Reviewer/Inspector Complying Wo	ork
Fig. 1. Control of the control of th	Noncomplying Wi	
N6298 State HWY 25 (15) 672-5266 City, State, Zip Code	Follow-up Necessary	11.200



715-672-5266 Fax 715-672-5267 MP3412 WD 535

′ .0:	
it Realty	30,000
O BOX 178	
Durand, WI 54736	

Invoice

Number: 2477

Date:

May 07, 2002

Ship To:

672-4224

Susan Yerigan's Well Abandonment W8998 Weber Road, Arkansaw

Pepin County

Description	The second secon		Quantity	Price	State Tax	County Tax	Amount
		,	104.00	10.00	x		1,040.00
Bentonite Chips		* 12.04			¥ 88		E 00
Bag EZ Crete		197	0.50	11.60			5.80
				2004		·	
		5 20		1000			
			100				
			15.8		· · · · · · · · · · · · · · · · · · ·		
			1449	Cara-		7.53	
		-35.7	- 100				
						1000	
		1430	208 148				
			17.5				
			- 100			1	
			=			2.50	
				, 1900 - G			
			*				
			33 434	1000			
							5.
	,				9 11	- 700	
						100	



WE ACCEPT MASTERCARD & VISA

Sub-Total \$1,045.80 0.00 State Tax 5.00% on 0.00 0.00 County Tax 0.50% on 0.00 Total \$1,045.80

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70



715-672-5266 Fax 715-672-5267 MP3412 WD 535

Bill To:

Heit Realty PO BOX 178 Durand, WI 54736

Invoice

Number: 2475

Date:

May 07, 2002

Ship To:

672-4224

Susan Yerigan's Well

W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
6" Drilling	360.00	13.00			4,680.00
6" Casing	180.00	9.00	2.0		1,620.00
6" Drive Shoe		85.00			85.00
Cement	x 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1,230.00			1,230.00
Chlorine & Water Sample - Bacteria & Nitrates Only		100.00	Sec.		100.00
	+A	X	22 (14)		
			9.00		855
		Valle	308		
			2 160		
		5 See	>3		
		11-1	•		
		1 10004	= = -0.5		
					-
			500		
	(24)	5.50	8.31		
* · ·	-12			-	
					-



WE ACCEPT MASTERCARD & VISA

 Sub-Total
 \$7,715.00

 State Tax 5.00% on 0.00
 0.00

 County Tax 0.50% on 0.00
 0.00

 Total
 \$7,715.00

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70



715-672-5266 Fax 715-672-5267 MP3412 WD 535

Bill To:

Heit Realty PO BOX 178 Durand, WI 54736

Invoice

Number: 2476

Date:

May 07, 2002

Ship To:

672-4224

Susan Yerigan's Pressure System W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
6 x 1 Maass Weld on Pitless Adapters	1.00	62.15			62.15
Pressure Switch	1.00	14.70			14.70
Pressure Gauge	1.00	5.80			5.80
Lightning Arrestor	1.00	20.60			20.60
10-3 UF w/ Ground	60.00	0.44			26.40
10-3 NM Wire	12.00	0.30			3.60
1 1/4" x 1" Galv Bushing	2.00	3.98			7.96
1" Galv Nipple	5.00	1.25			6.25
1" Galv Plug	1.00	1.76			1.76
1" Galv Tee	2.00	3.92			7.84
1" Galv St 45	1.00	6.76			6.76
1" Galv 45	1.00	3.84			3.84
1" 160 lb Black Plastic	47.00	0.54			25.38
1" Electrical PVC	5.00	0.39			1.95



WE ACCEPT MASTERCARD & VISA

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70



715-672-5266 Fax 715-672-5267 MP3412 WD 535

Bill To:

Heit Realty PO BOX 178 Durand, WI 54736

Invoice

Number: 2476

Date:

May 07, 2002

Ship To:

672-4224

Susan Yerigan's Pressure System W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
1" Electrical Terminal Adpt	1.00	0.60			0.60
1" Check Valve	1.00	19.90	i e		19.90
1" x 3/4" Galv Bushing	2.00	2.96			5.92
1" x 3/4" Galv Tee	3.00	4.84		,	14.52
1" Romex Conn	2.00	2.16	¥		4.32
1" Brass Insert	4.00	4.75			19.00
1" Ball Valve	1.00	14.75			14.75
3/4" Galv Nipple	3.00	1.00			3.00
3/4" Galv ST 45	1.00	5.38			5.38
3/4" Galv Tee	1.00	2.48			2.48
3/4" x 1/4" Galv Bushing	1.00	1.90	,		1.90
3/4" Ball Valve	2.00	10.20			20.40
3/4" Boiler Drain	1.00	4.46			4.46
3/4" Brass Insert	2.00	4.20			8.40



WE ACCEPT MASTERCARD & VISA

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70



715-672-5266 Fax 715-672-5267 MP3412 WD 535

Bill To:

Heit Realty PO BOX 178 Durand, WI 54736 Invoice

Number: 2476

Date:

May 07, 2002

Page: 3

Ship To:

672-4224

Susan Yerigan's Pressure System W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
3/4" Wirsbo Pipe	28.00	0.75			21.00
3/4" Wirsbo Rings	8.00	0.19	*		1.52
	4.00	3.07			12.28
3/4" Wirsbo Male Adpt	4.00	1.39			5.56
3/4" Wirsbo Bend Supports	10.00	0.10			1.00
3/4" Wirsbo Fasteners	1.00	7.65			7.65
3/4" Hydrant Elbow	31.00	0.40			12.40
3/4" 160 lb Black Plastic Pipe	2.00	0.76			1.52
1/4" Galv Nipple	1.00	2.30			2.30
1/4" Galv Tee		1.04			3.12
Shrinks	3.00				2.80
Wire Nuts	10.00				9.84
Stainless Steel Hose Clamps	12.00				
2 x 4 x 2 EMT Junction Box	1.00				2.2
Roll Black Tape	1.00	1.80			1.80



WE ACCEPT MASTERCARD & VISA

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70



715-672-5266 Fax 715-672-5267 MP3412 WD 535

Bill To:

Heit Realty **PO BOX 178** Durand, WI 54736

Invoice

Number: 2476

Date:

May 07, 2002

Ship To:

672-4224

Susan Yerigan's Pressure System W8998 Weber Road, Arkansaw

Pepin County

Description	Quantity	Price	State Tax	County Tax	Amount
Bag EZ Crete		5.00			5.00
Welder Charge		25.00			25.00
Rig Charge		40.00			40.00
Excavation Charge		390.00			390.00
Labor		710.00			710.00
		-			



WE ACCEPT MASTERCARD & VISA

Sub-Total \$1,575.06

State Tax 5.00% on 0.00 County Tax 0.50% on 0.00 0.00 0.00

Total

\$1,575.06

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$12,293.70	\$0.00	\$0.00	\$0.00	\$12,293.70